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(1) Al guestions are compulsory o solve.
(1)  Question Nos. 1 to 4 are objective type questions. Each question is allotted
8 muarhke.

(iti) Question Nos. 5 to 7 camy 2 marks cach. Answer word limit is 30 words,
(iv) Question Nos. 8 to 10 carny 3 marks each. Answer word limit is 78 words,
(v)  Question Nos. 11 to 15 carmy 4 marks cach. Answer word limit is 120 words,
(vi) Question Nos. 16 to 18 carry § marks each. Answer word limit is 150 words,
(vii) laternal options are given i Question Nos. 5 to 18,
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1 FrefiiEs 4 4 wd gwe sizee AT Ie-gfva # fafa s
(3) #®™ (modem) m qu ™ ¥ -
() wmgEET - ) gt
(i) wgAem - @ TEHeE
(iii) WAz - fammsm
(iv) Sudwr it
(@) f@Ees @ ur or v oF ST ¥ fyo gam few wE R -
| (i) J Dialog (ii) J Frame
(iti) J Pancl (iv) J Button
(®) &g ® w7 wra B fam frwed G svkum W) w0 mELE -
(1) 221 2124 (i) @
(iii) @=nm (iv) afraas
(@) DRMS, ®n b ¢
(D) ervan dronne fawen (i) =Ema SRy fgem
(iti) ®121 73 fgeay (iv) 7% 7 &5 = (
(5)  E-governance 3 term & NIC &1 full-form @1 & 7
(i) AYEA FOTTRYA J52y (i) NEa gewed &=
(i) T=A e 7= (iv) AorFrE ¥weiias FeeT
Choose the correet alternatives and write in your answer bo
(A) The full nume of the modem -
(1 Modulmor - D modulator
(i) Modulation - D Modulation
(iii) Mopdulator - Discussion
(iv) Al of the above
(B) This is used to initiate an action when it is clicked
(i) J Dialog (i) J Frame
(ii1) J panel (iv) J Bution
1517 E-814 2 MIRHVEIRNIE PrO.

Scamned by TapScanner




(C) Reserved memory locationg 10 store values is called -
(1) Data types (i1) Constant
(iii) Class (iv) Variables
(D) What is D.B.M.S. ?
(i) Database Management System
(i1) Datwbase Manager System
(ti) Data Manage Svstem
(iv) None of these
(E) What is the tull form of the NIC in E-govermance term ?
(1) National Information Center
\ (i) Novel Indusinal Center (
(iii) Nodal Industrial Center

(iv) Natonal Industrial Center

Lh

2 ratattm e T #t gl #nAag
A .. . N P
SNi) zes & O F ®5 § g WS OF !
(i) o™ UH T OTET F N

(1i1) ¥2 99 & v gEs W 20

(iv) U W@ TeTEW TR R AWM FAmE H S9O6 4T
(v) fefaes =il groias &1 9 ER S

\y['j.l] in the following blanks :
)ﬁj Network speed is measured as

/(1) Class is a data tvpe.

/
flll] is the standard language for the web page,
—_——— &S

(iv) To creatc a new database command 1s used,

(v) The digital revolutions affect the on social “-'Vc{

151 |/ E-814 ' 3 MIMERNVENUR P.TO.




3 Fﬁﬁﬁﬁhﬁrﬁt‘

qpr oy

() S (a) WPRET vy

(i) = (b) T B vz 4y

(iii) fEoiiew =fzw () g

(iv) zuw (d) YRrER

(v) w= (¢) TF 9% 3T =Ea W UEES
(H w2

Match the following pairs :

L A "B"
) TCP (a) Programming Iung_uujf
Xii) Java c (b) A row nf ki’
" iii) Hicrarchical model (¢) User
(iv) Tuple (d) Protocol
4v) Front cad 1€ One paremt and many_children

() FLOAT

4 U A § Tav SiEg -
(i) w2mm @0 & 7
(i) JDK & = = e
(1ii) E=x & Hdesm = =7 ®2q £ 7
(iv) Fm wasm & sowen 3 fadt @ owem @ s Fasen amar & 5
(v) fRwadawm o5 @ 9umz 2 ¢
Answer in one sentence -

(i)  What is protocol ?

(i) Write the full form of JD@
(i) What do we say to collection—of field ?

, v J
[iv) Which function helps to find any number of the .xcnmih‘lLr'-/:
V) Which website is Flipkart.com ?,
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X IAEE 296 B GEAET
Explain the wireless network
I
ST / OR
SIFEE WA F N AN fafgn

Write any two advantages of -
¢ any two advantages of apen source software.

6 et &= ¢ ¢
What are identifiers 2
qa¥ 7 OR

Write difference between Break statement and Continue statement.

I~

7 MYSQL % FLOAT =7 DOUBILE % 3ma 37 g |
Differentinte between FLOAT and DOUBIE of MYSOQIL..
T /7 OR
Tl #1307 &t &1 F g9 w=r [ Ew

Diftercntiate between primary key and candidate ke,

s

8§ W TuE wea? 7 OANAEd AR IEE IEN M |
Explain the j:’nu contro! structure and write 1S npes.
A / OR
wiEE @ sRensd 9 e 9En mEm
Explain the inheritance and write its types.
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10

TeaE HER § gy T owaEa 7 SO @ A amw Rt |

What do you mean by network model 2 Write its any three advantages.

suat / OR
Feafafas wesmy ® STEw aitd TEARY
(1) SIGN ()
(if) TRUNCAT ( )
(iif) POWER ()
Explain the following functions with an_example :
(1) SIGN ()
(1) TRUNCAT ( )
(iii) POWER ( )

-

£ 7 v =3 3
(if) "sgz

(iii) Feersrsig

Explain the following with example :
(i) Entity

(11) Attribute

{iii) Relationship

¥ 7 OR
(i) g
(ii) P

(iii) $—zpmd

Explain the following .
(i) [-gavemnance .
(i) E-lesming

(iii) E-commerce
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Frah A uET B A Y 7 ey amw fafo o

How many types of Networks are there ? Write its advantages.
) gy / OR

FL AT ot ww H Ay k¢ ged wb fafe

How many are types of computer virus ? Write its disadvantaces.

HTMIL. % smér T #1 syntex wiga womd |

Eaplain Ordered list with svmtex in HTML.
Hqa / OR

HIMI. % @/= 20 @ a9wEg |

Explain font tag in HTMIL..

My SQIL. & fasigani fafao
Write features of My SOQL.

m,;.nlﬂ
FineE @ ACID Tl # wwEgEEd |

Explain ACID properties of a tansaction.

MYSOL ¥ iz s3E A IHE TE H®iEw WEAET )

Explain Aggregate function with its type in MYSOQL.
wu@ / OR

Fiiza faR avd ¥ 7 OIEE TEN fatrgm

What is Join 2 WTrite its 1ypes.

Wﬁl(‘r&smm%m i
Write the positive impact of ICT in society.

. W@ / OR
l:-ﬁ%%m@ﬁﬁli-%mtmml

i - 1 ntion the names of two
Write the advantages of E-lcarming and mentx ¢

*

E-leaming websites.

151

/. E-814 7 IHImRARvENI PTO.



161

16 =Gz & fafws qon 2 & ﬁw l 5
Explain various securitv-threats of intemnet,
@ / OR
- - . - ..‘,.
W ANATAT § ¥ osmmei ¢ IEG WY ua miral fatgn ‘e
What do vou mean by~ Siar Topology ? Write its advantages and t.
disadvantages.
17 mseR sifee g @ fasimam ST
\ Write the features of object oriented programming. 1
f
qgT / OR
ar § AT T RN AGF a7 w97 =4 i guz w7 TE2mew vd fa=es
/izw =T |
Write lower case string method and upper case string method with
example and svotex in Java.
18 AN SEET T twTER wm ko oaws am faEm 5

What is menu-driven user interface ° Write its advantages.
s / OR

SDLC = %5723 |
Explain SDIC.
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